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3XML� GDQ� V\XNXU� SHQXOLV� SDQMDWNDQ� NHKDGLUDW� $OODK� 6:7�� \DQJ� WHODK

PHPEHULNDQ�UDKPDW�VHUWD�KLGD\DKQ\D�VHKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�EXNX

7XJDV� $NKLU� \DQJ MXGXO� ³ 3URWRWLSH� 5RERW� 3HOD\DQ %HUEDVLV� /LQH� )ROORZHU�

8QWXN�0HQJJDQWL�3HOD\DQ�'L�5XPDK�0DNDQ�'HQJDQ�)XQJVL�0HQFDWDW�0HQX�

8QWXN�3HODQJJDQ ´ GDSDW�GLVHOHVDLNDQ�SDGD ZDNWXQ\D� 7XJDV�$NKLU� LQL�GLVXVXQ�

XQWXN�PHPHQXKL�VDODK�VDWX�V\DUDW�GDODP PHQ\HOHVDLNDQ�SHQGLGLNDQ�SDGD�3URJUDP�

6DUMDQD�7HNQLN�(OHNWUR )DNXOWDV 7HNQLN�(OHNWUR�8QLYHUVLWDV�7HONRP�

'DODP� SHQXOLVDQ� 7XJDV� $NKLU� LQL� WHQWXQ\D� EDQ\DN� NHQGDOD� \DQJ� KDUXV

GLKDGDSL� ROHK� SHQXOLV� NDUHQD� WHUEDWDVQ\D SHQJHWDKXDQ� GDQ� NHPDPSXDQ� \DQJ

GLPLOLNL� VHUWD� LQIRUPDVL� \DQJ� WHUVHGLD�� QDPXQ� GHPLNLDQ� SDGD� DNKLUQ\D� GDSDW

GLVHOHVDLNDQ�GHQJDQ�VHEDLN�EDLNQ\D�EHUNDW�EDQWXDQ�SHPELPELQJ�GDQ�VHPXD�SLKDN�

8QWXN� LWX� VDUDQ� GDQ NULWLN� \DQJ� EHUVLIDW� PHPEDQJXQ� GL KDUDSNDQ� DJDU GDSDW�

GLSHUEDLNL�GDQ�GLNHPEDQJNDQ�XQWXN NHEXWXKDQ�PDV\DUDNDW�SDGD PDVD \DQJ�DNDQ�

GDWDQJ�

6HPRJD�7XJDV�$NKLU� LQL� GDSDW PHPEHULNDQ� NRQWULEXVL� \DQJ EHUPDQIDDW�

EDJL�\DQJ�PHPEDFD�GDQ�PDV\DUDNDW SDGD�XPXPQ\D�
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